Czechoslovak Mathematical Journal

G. S. Pandey

On the absolute Cesàro summability of the ultraspherical series

Czechoslovak Mathematical Journal, Vol. 21 (1971), No. 4, 525-534

Persistent URL: http://dml.cz/dmlcz/101054

Terms of use:

© Institute of Mathematics AS CR, 1971

Institute of Mathematics of the Czech Academy of Sciences provides access to digitized documents strictly for personal use. Each copy of any part of this document must contain these *Terms of use*.



This document has been digitized, optimized for electronic delivery and stamped with digital signature within the project *DML-GZ: The Czech Digital Mathematics Library* http://dml.cz

CZECHOSLOVAK MATHEMATICAL JOURNAL

Mathematical Institute of Czechoslovak Academy of Sciences
V. 21 (96), PRAHA 18. 11. 1971, No 4

ON THE ABSOLUTE CESÀRO SUMMABILITY OF THE ULTRASPHERICAL SERIES

G. S. PANDEY, Ujjain

(Received February 27, 1966 in revised form March 18, 1971)

1. The ultraspherical series associated with a function $f(\theta, \phi)$, defined for the range $0 \le \theta \le \pi$, $0 \le \phi \le 2\pi$ on a sphere S, is

(1.1)
$$f(\theta, \phi) \sim \frac{1}{2\pi} \sum_{n=0}^{\infty} (n+\lambda) \iint_{S} \frac{P_{n}^{(\lambda)}(\cos \gamma) f(\theta', \phi') d\sigma'}{\left[\sin^{2} \theta' \sin^{2} (\phi - \phi')\right]^{1/2 - \lambda}} = \frac{1}{2\pi} \sum_{n=0}^{\infty} A_{n},$$

say, where

$$\lambda > 0,$$

$$\cos \gamma = \cos \theta \cos \theta' + \sin \theta \sin \theta' \cos (\phi - \phi'),$$

$$d\sigma' = \sin \theta' d\theta' d\phi'$$

and the ultraspherical polynomial $P_n^{(\lambda)}(\cos \gamma)$ is defined by the following expansion

$$(1-2z\cos\gamma+z^2)^{-\lambda}=\sum_{n=0}^{\infty}z^nP_n^{(\lambda)}(\cos\gamma)\,,\quad\lambda>0\,.$$

The Laplace series is a particular case of the series (1.1) for the value $\frac{1}{2}$ of the parameter λ and in view of the relation

$$\lim_{\lambda \to 0} \frac{1}{\lambda} P_n^{(\lambda)}(\cos \theta) = \frac{2}{n} \cos n\theta , \quad n \ge 1 ,$$

the ultraspherical series (1.1) reduces to the trigonometric series in the limit as $\lambda \to 0$. Also, on account of the relation [5]

$$\frac{\Gamma(\frac{1}{2} + \lambda)}{\Gamma(\frac{1}{2})} \int_{0}^{\pi} (\sin \omega)^{2\lambda - 1} P_{n}^{(\lambda)}(\cos \gamma) d\omega =$$

$$= \frac{\Gamma(n + 1) \Gamma(2\lambda)}{\Gamma(n + 2\lambda)} P_{n}^{(\lambda)}(\cos \theta) P_{n}^{(\lambda)}(\cos \theta'),$$

where

$$\omega = \phi - \phi'$$

the series (1.1) reduces to the ultraspherical series of the function

$$f(\theta, \phi) \equiv f(\cos \theta) = f(x)$$

and the end points of the linear interval [-1, +1].

In a recent paper Gupta [2] has discussed the absolute Abel summability of the series (1.1) at a point on the surface of the sphere. His first theorem is an independent result, while the second theorem includes both the theorems of Bhatt [1] on the summability |A| of Laplace series as a particular case for $\lambda = \frac{1}{2}$. In a subsequent paper [3] Gupta and the author have studied the absolute Cesàro summability of the ultraspherical series (1.1) at a point on the surface of the sphere. The object of this paper is to establish some new results, in a different line, for the absolute Cesàro summability of the ultraspherical series (1.1).

It is assumed throughout that the function

(1.2)
$$f(\theta', \phi') \left[\sin^2 \theta' \sin^2 (\phi - \phi') \right]^{\lambda - 1/2}$$

is absolutely integrable (L) on the whole surface of the sphere S.

A generalised mean value of $f(\theta, \phi)$ on the sphere has been defined by Kogbet-LIANTZ [4] as follows

(1.3)
$$f(\gamma) = \frac{\Gamma(\frac{1}{2}) \Gamma(\frac{1}{2} + \lambda)}{\Gamma(\lambda) 2\pi (\sin \gamma)^{2\lambda}} \int_{C_{\nu}} \frac{f(\theta', \phi') dS'}{\left[\sin^2 \theta' \sin^2 (\phi - \phi')\right]^{1/2 - \lambda}},$$

where the integral is taken along the small circle whose centre is (θ, ϕ) on the sphere and whose curvilinear radius is γ .

We write

$$\begin{split} \phi(\gamma) &= \frac{\Gamma(\lambda)}{2\Gamma(\frac{1}{2}) \Gamma(\frac{1}{2} + \lambda)} f(\gamma) \sin^{2\lambda - 1} \gamma , \\ \Phi_p(\varkappa) &= \frac{1}{\Gamma(p)} \int_0^{\varkappa} (\varkappa - t)^{p-1} \phi(t) dt , \\ \Phi_0(\varkappa) &= \phi(\varkappa) , \\ \phi_p(\varkappa) &= \Gamma(p+1) \varkappa^{-p} \Phi_p(\varkappa) , \quad p \ge 0 ; \end{split}$$

and

$$\Phi_p(x) = \frac{\mathrm{d}}{\mathrm{d}x} \Phi_{p+1}(x), \quad -1$$

The following theorems will be proved.

Theorem 1. If $\phi(\gamma)$ is of bounded variation in the interval $[\eta, \pi]$, where

$$\eta = \frac{\mu}{n^{\Delta}}, \quad \Delta = \frac{1}{\alpha + 3\lambda + 1},$$

μ being a large constant and

(1.4)
$$\Phi_1(t) = O[t^{2/4-1}] \quad \text{as} \quad t \to 0,$$

 $0 < \lambda < \alpha < 1$, then the series (1.1) is absolutely summable $(c, \alpha + \lambda)$ at the point (θ, ϕ) of the sphere.

Theorem 2. If $\phi(\gamma)$ is of bounded variation in the range $[\eta, \pi]$, where

$$\eta = \frac{\mu}{n^{\Delta}}, \quad \Delta = \frac{\alpha}{\alpha + 3\lambda + 1},$$

u being a large constant and

$$\Phi_{\alpha}(t) = O[t^{(2\alpha+\lambda+1)/2\Delta}]$$
 as $t \to 0$,

 $0 < \lambda < 1$; $\alpha > \lambda$, then the series (1.1) is summable $|c, \alpha + \lambda|$ at the point (θ, ϕ) on the sphere.

Theorem 3. If $\phi(\gamma)$ is of bounded variation in the interval $[\eta, \pi]$ where

$$\eta = \frac{\mu}{n^{\Delta}}, \quad \Delta = \frac{\lambda}{\alpha + 3\lambda + 1},$$

μ being a large constant and

$$\Phi_{\alpha}(t) = O[t^{(\alpha+2\lambda+1)/2\Delta-1}] \gamma(t)$$
 as $t \to 0$,

then the series (1.1) is summable $|c, \alpha + \lambda|$ for $0 < \lambda < \alpha < 1$, at the point (θ, ϕ) on the sphere, provided $\gamma(t)$ is any one of the sequences:

$$\{1/(\log(1/t))^{1+\epsilon}\}, \ldots, \{1/(\log(1/t))\ldots(\log \ldots \log_{p-1}(1/t))(\log \ldots \log_p(1/t))^{1+\epsilon}\},$$

 $\epsilon > 0.$

Even the particular cases of these theorems for Laplace series are belived to be not known before. The theorems are independent of each other under different ranges of α and λ .

2. For the proofs of the theorems we need the following lemmas:

Lemma 1. If $S_n^k(\gamma)$ denotes the n-th Cesàro mean of order k of the series

$$\sum (n + \lambda) P_n^{(\lambda)}(\cos \gamma) ,$$

then, for $p \ge 0$ and $\lambda > 0$, we have

(2.1)
$$\frac{d^{p}\{s_{n}^{k}(\gamma)\}}{d\gamma^{p}} = \begin{cases} O(n^{2\lambda+p+1}), & 0 \leq \gamma \leq \pi, \quad k > 0; \\ O\left(\frac{n^{\lambda+p-k/2-1/2}}{\gamma^{\lambda+k/2+1/2}}\right), & 0 < \gamma \leq a < \pi \end{cases}$$

The proof follows on the lines of Obrechkoff [6].

Lemma 2 [6]. For $0 < a \le \gamma \le \pi$, we have uniformly

(2.2)
$$S_n^k(\gamma) = O(n^{2\lambda-k}) + O(n^{-1}).$$

3. Proof of theorem 1. We have

$$nA_{n} = n(n + \lambda) \iint_{S} \frac{f(\theta', \phi') P_{n}^{(\lambda)}(\cos \gamma) \sin \theta' \, d\theta' \, d\phi'}{\left[\sin^{2} \theta' \sin^{2} (\phi - \phi')\right]^{1/2 - \lambda}} =$$

$$= n(n + \lambda) \int_{0}^{\pi} \phi(\gamma) P_{n}^{(\lambda)}(\cos \gamma) \sin \gamma \, d\gamma =$$

$$= n \int_{0}^{\pi} \phi(\gamma) \left[\left\{ \frac{d}{d\varkappa} P_{n+1}^{(\lambda)}(\varkappa) \right\}_{\varkappa = \cos \gamma} - \left\{ \varkappa \frac{d}{d\varkappa} P_{n}^{(\lambda)}(\varkappa) \right\}_{\varkappa = \cos \gamma} - \lambda P_{n}^{(\lambda)}(\cos \gamma) \right] \sin \gamma \, d\gamma =$$

$$= \int_{0}^{\pi} \phi(\gamma) \left[\left\{ (n + \lambda + 1) \frac{d}{d\gamma} P_{n+1}^{(\lambda)}(\cos \gamma) \right\} - \left\{ (\cos \gamma) (n + \lambda) \frac{d}{d\gamma} P_{n}^{(\lambda)}(\cos \gamma) \right\} - (\lambda + 1) \frac{d}{d\gamma} P_{n+1}^{(\lambda)}(\cos \gamma) + \lambda \cos \gamma \frac{d}{d\gamma} P_{n}^{(\lambda)}(\cos \gamma) -$$

$$- \lambda(n + \lambda) P_{n}^{(\lambda)}(\cos \gamma) \sin \gamma + \lambda^{2} P_{n}^{(\lambda)}(\cos \gamma) \sin \gamma \right] d\gamma.$$

Thus,

$$(3.1) t_n^{\alpha+\lambda}(\gamma) = \left[\int_0^{\pi} \frac{\mathrm{d}\{s_{n+1}^{\alpha+\lambda}(\gamma)\}}{\mathrm{d}\gamma} \, \phi(\gamma) \, \mathrm{d}\gamma - \int_0^{\pi} \frac{d\{s_n^{\alpha+\lambda}(\gamma)}{\mathrm{d}\gamma} \cos \gamma \, \phi(\gamma) \, \mathrm{d}\gamma - \right. \\ - \left. (\lambda+1) \int_0^{\pi} \sigma_{n+1}^{\alpha+\lambda}(\gamma) \, \phi(\gamma) \, \mathrm{d}\gamma + \lambda \int_0^{\pi} \sigma_n^{\alpha+\lambda}(\gamma) \, \phi(\gamma) \cos \gamma \, \mathrm{d}\gamma - \right. \\ \left. - \lambda \int_0^{\pi} s_n^{\alpha+\lambda}(\gamma) \, \phi(\gamma) \sin \gamma \, \mathrm{d}\gamma + \lambda^2 \int_0^{\pi} l_n^{\alpha+\lambda}(\gamma) \, \phi(\gamma) \sin \gamma \, \mathrm{d}\gamma \right] \frac{1}{A_n^{\alpha+\lambda}} = \\ = \left[I_1 + I_2 + I_3 + I_4 + I_5 + I^6 \right] \cdot \frac{1}{A_n^{\alpha+\lambda}} \,,$$

say, where $t_n^{\alpha+\lambda}(\gamma)$, $s_n^{\alpha+\lambda}(\gamma)$, $\sigma_n^{\alpha+\lambda}(\gamma)$ and $t_n^{\alpha+\lambda}(\gamma)$ denote the *n*-th Cesàro mean of order $\alpha+\lambda$ of the sequences

$$\{nA_n\}, \{(n+\lambda)P_n^{(\lambda)}(\cos\gamma)\}, \left\{\frac{\mathrm{d}}{\mathrm{d}\gamma}P_n^{(\lambda)}(\cos\gamma)\right\} \text{ and } \{P_n^{(\lambda)}(\cos\gamma)\}$$

respectively.

Hence, in order to prove the theorem, it is sufficient to show that

$$(3.2) \qquad \sum_{n=1}^{\infty} n^{-1} |t_n^{\alpha+\lambda}(\gamma)| < \infty.$$

Henceforward we shall denote

$$\frac{\mathrm{d}^p\{s_n^{\alpha+\lambda}(\gamma)\}}{\mathrm{d}\nu^p}\quad\text{by}\quad s_n^{(p)}(\gamma)\;.$$

We consider I_1 first.

(3.3)
$$I_{1} = \int_{0}^{\pi} s_{n+1}^{(1)}(\gamma) \,\phi(\gamma) \,\mathrm{d}\gamma = \left[\int_{0}^{\eta} + \int_{\eta}^{\delta} + \int_{\delta}^{\pi}\right] = I_{1,1} + I_{1,2} + I_{1,3},$$

say. Now,

(3.4)
$$I_{1,1} = \int_0^{\eta} s_{n+1}^{(1)}(\gamma) \, \phi(\gamma) \, d\gamma =$$

$$= \left[s_{n+1}^{(1)}(\gamma) \, \Phi_1(\gamma) \right]_0^{\eta} - \int_0^{\eta} s_{n+1}^{(2)}(\gamma) \, \Phi_1(\gamma) \, d\gamma = I_{1,1,1} - I_{1,1,2} \,,$$

say.

(3.5)
$$I_{1,1,1} = \left[\Phi_1(\eta) s_{n+1}^{(1)}(\eta)\right] = O\left[\eta^{2/4-1} \cdot \frac{n^{(\lambda+1-\alpha)/2}}{\eta^{-(\alpha+3\lambda+1)/2}}\right] = O(n^{(\lambda-\alpha)/2})$$

(3.6)
$$I_{1,1,2} = \int_0^{\eta} \Phi_1(\gamma) \, s_{n+1}^{(2)}(\gamma) \, d\gamma = \left[\int_0^{1/n} + \int_{1/n}^{\eta} \right] \Phi_1(\gamma) \, s_{n+1}^{(2)}(\gamma) \, d\gamma = L_1 + L_2$$
say.

•

Now, we have

(3.7)
$$L_1 = O\left[\int_0^{1/n} |\Phi_1(\gamma)| \cdot n^{2\lambda+2} d\gamma\right] = O\left[\int_0^{1/n} \gamma^{2/4-1} n^{2\lambda+2} d\gamma\right] = O[n^{-2(\alpha+\lambda)}].$$

Also,

(3.8)
$$L_2 = O\left[n\int_{1/n}^{\eta} n^{(1+\lambda-\alpha)/2} \gamma^{3/2A-1} \, d\gamma\right] = O[n^{(\lambda-\alpha)/2}].$$

On integration by parts, we have

$$(3.9) I_{1,2} = \left[\phi(\gamma) \, s_{n+1}^{\alpha+1}(\gamma)\right]_{\eta}^{\delta} - \int_{\eta}^{\delta} \frac{\mathrm{d}}{\mathrm{d}\gamma} \, \phi(\gamma) \, s_{n+1}^{\alpha+\lambda}(\gamma) \, \mathrm{d}\gamma =$$

$$= O(n^{(\lambda-\alpha)/2}) + O(n^{(\lambda-\alpha)/2}) \int_{\eta}^{\delta} \left|\frac{\mathrm{d}}{\mathrm{d}\gamma} \, \phi(\gamma)\right| \mathrm{d}\gamma = O(n^{(\lambda-\alpha)/2}).$$

Finally, using lemma 2, we get

$$(3.10) I_{1,3} = \int_{\delta}^{\pi} s_{n+1}^{(1)}(\gamma) \phi(\gamma) d\gamma =$$

$$= \left[\phi(\gamma) s_{n+1}^{\alpha+\lambda}(\gamma)\right]_{\delta}^{\pi} - \int_{\delta}^{\pi} \frac{d}{d\gamma} \phi(\gamma) s_{n+1}^{\alpha+\lambda}(\gamma) d\gamma =$$

$$= O(n^{\lambda-\alpha}) + O\left(\frac{1}{n}\right) + O(n^{\lambda-\alpha}) \int_{\delta}^{\pi} \left|\frac{d}{d\gamma} \phi(\gamma)\right| d\gamma = O(n^{\lambda-\alpha}).$$

Obviously the order estimates for I_2 , I_3 , I_4 , I_5 and I_6 are included in the orders evaluated for I_1 . Thus, combing the relations (3.1), (3.2), (3.3), (3.4) (3.5), (3.7), (3.8), (3.9), and (3.10) we see that the theorem is proved.

4. Proof of theorem 2. Proceeding as in the last section in order to prove the theorem, it is sufficient to show that

$$\sum_{n=1}^{\infty} n^{-1} \big| I_1 \big| < \infty$$

under the hypothesis of the theorem.

We have

(4.1)
$$I_{1} = \int_{0}^{\pi} s_{n+1}^{(1)}(\gamma) \, \phi(\gamma) \, d\gamma = \left[\int_{0}^{\eta} + \int_{\eta}^{\delta} + \int_{\delta}^{\pi} \right] = I_{1,1} + I_{1,2} + I_{1,3} ,$$

say. Let m be the integer such that $\alpha \leq m < \alpha + 1$. Hence

$$(4.2) I_{1,1} = \int_0^{\eta} s_{n+1}^{(1)}(\gamma) \, \phi(\gamma) \, d\gamma =$$

$$= \left[\sum_{p=1}^m (-1)^{p-1} \, \Phi_p(\gamma) \, s_{n+1}^{(p)}(\gamma) \right]_0^{\eta} + (-1)^m \int_0^{\eta} \Phi_m(\gamma) \, s_{n+1}^{(m+1)}(\gamma) \, d\gamma =$$

$$= i_1 + (-1)^m \, i_2 \,,$$

say. Now, using lemma 1, we have

$$\begin{split} \big[\Phi_m(\gamma) \, s_{n+1}^{(m)}(\gamma) \big]_0^{\eta} &= O \big[\gamma^{(\alpha+\lambda+1)/2d} n^{m+(\lambda-\alpha-1)/2} \big] = \\ &= O \big(n^{m+(\lambda-\alpha-1)/2} \big) \, \eta^{(\alpha+\lambda+1)/2d} \, . \end{split}$$

Thus

$$i_1 = O(n^{m-\alpha-1}).$$

When α is not an integer, we have

$$i_{2} = \int_{0}^{\eta} \Phi_{m}(\gamma) \, s_{n+1}^{(m+1)}(\gamma) \, d\gamma =$$

$$= \frac{1}{\Gamma(m-\alpha)} \int_{0}^{\eta} s_{n+1}^{(m+1)}(\gamma) \, d\gamma \, \int_{0}^{\gamma} (\gamma-u)^{m-\alpha-1} \, \Phi_{\alpha}(u) \, du =$$

$$= \frac{1}{\Gamma(m-\alpha)} \int_{0}^{\eta} \Phi_{\alpha}(u) \, du \, \int_{u}^{\eta} (\gamma-u)^{m-\alpha-1} s_{n+1}^{(m+1)}(\gamma) \, d\gamma =$$

$$= \int_{0}^{\eta} \Phi_{\alpha}(u) \, F(\eta, u) \, du \, ,$$

by Fubini's theorem, since $\Phi_{\alpha}(u) = O(u^{\alpha}), m > \alpha$.

The orders of $F(\eta, u)$ can be easily seen to be

$$F(\eta, u) = \begin{cases} O(n^{2\lambda + m + 1}) u^{m - \alpha} + O(u^{m - \alpha - 1} n^{2\lambda + m}), & \text{for } 2u < \eta; \\ O(n^{(\alpha + \lambda + 1)/2} u^{-\alpha/2A}), & u + \frac{1}{n} < \eta. \end{cases}$$

Thus, we get

(4.4)
$$i_2 = \left[\int_0^{1/n} + \int_{1/n}^{\eta} \right] \Phi_{\alpha}(u) F(\eta, u) du = i_{2,1} + i_{2,2},$$

say.

$$(4.5) i_{2,1} = O\left[\int_{0}^{1/n} u^{(2\alpha+\lambda+1)/2d} u^{m-\alpha} n^{2\lambda+m+1} du\right] + \\ + O\left[\int_{0}^{1/n} u^{(2\alpha+\lambda+1)/2d} u^{m-\alpha-1} n^{2\lambda+m} du\right] = \\ = O\left[n^{2\lambda+\alpha}\right] n^{-(2\alpha+\lambda+1)/2d} = O\left[n^{-\alpha-1}\right], \\ i_{2,2} = \int_{1/n}^{\eta} \Phi_{\alpha}(u) F(\eta, u) du = O\left[n^{(\alpha+\lambda+1)/2} \int_{1/n}^{\eta} u^{(2\alpha+\lambda+1)/2d} du\right] = \\ \cdot u^{-(\alpha+3\lambda+1)/2} du = O\left[n^{(\alpha+\lambda+1)/2} \int_{1/n}^{\eta} u^{(\alpha+\lambda+1)/2d} du\right] = \\ = O\left[n^{(\alpha+\lambda+1)/2} \eta^{(\alpha+\lambda+1)/2d+1}\right] = O(n^{-d}).$$

 $I_{1,2}$ and $I_{1,3}$ can be disposed off in exactly the same way as in the last section and we have

$$I_{1,2} = O(n^{(\lambda - \alpha)/2}),$$

and

$$I_{1.3} = O(n^{\lambda - \alpha}).$$

When $\alpha = m$, an integer, we have

(4.8)
$$i_2 = \int_0^{\eta} \Phi_{\alpha}(\gamma) \, s_{n+1}^{(\alpha+1)}(\gamma) \, \mathrm{d}\gamma = \int_0^{1/n} + \int_{1/n}^{\eta} = i_{2,1} + i_{2,2} \,,$$

say. Now

(4.9)
$$i_{2,1} = O\left[\int_{0}^{1/n} \gamma^{(2\alpha+\lambda+1)/2d} n^{2\lambda+\alpha+1}\right] = O[n^{-\alpha-1}].$$

Also

(4.10)
$$i_{2,2,} = \int_{1/n}^{\eta} \Phi_{\alpha}(\gamma) \, s_{n+1}^{(\alpha+1)}(\gamma) \, d\gamma = O\left[\int_{1/n}^{\eta} \gamma^{(\alpha+\lambda+1)/2\Delta} n^{(\alpha+\lambda+1)/2} \, d\gamma\right] = O\left[n^{(\alpha+\lambda+1)/2} \eta^{(\alpha+\lambda+1)/2\Delta+1}\right] = O(n^{-\Delta}).$$

This complete the proof of the theorem.

5. Proof of theorem 3. For the proof of the theorem it is sufficient to show that the series.

$$\sum_{1}^{\infty} n^{-1} |I_1|$$

is convergent.

We now consider I_1 .

(5.1)
$$I_1 = \int_0^{\pi} \phi(\gamma) \, s_{n+1}^{(1)}(\gamma) \, d\gamma = \int_0^{\pi} + \int_0^{\delta} + \int_{\delta}^{\pi} = J_1 + J_2 + J_3,$$

say. On integration by parts, we have

$$J_3 = \left[\phi(\gamma) \, s_{n+1}^{\alpha+\lambda}(\gamma)\right] - \int_{\lambda}^{\pi} \frac{\mathrm{d}}{\mathrm{d}\gamma} \, \phi(\gamma) \, s_{n+1}^{\alpha+\lambda}(\gamma) \, \mathrm{d}\gamma = O(n^{\lambda-\alpha}).$$

Now

(5.3)
$$J_{1} = \int_{0}^{\eta} \phi(\gamma) \, s_{n+1}^{(1)}(\gamma) \, d\gamma = \left[\Phi_{1}(\gamma) \frac{d}{d\gamma} \, s_{n+1}^{\alpha+\lambda}(\gamma) \right]_{0}^{\eta} + \int_{0}^{\eta} \Phi_{1}(\gamma) \, s_{n+1}^{(2)}(\gamma) \, d\gamma =$$

$$= J_{1,1} + J_{1,2} ,$$

say. From Lemma 1, we observe that

$$\left[\Phi_1(\gamma) \frac{\mathrm{d}}{\mathrm{d}\gamma} s_{n+1}^{\alpha+\lambda}(\gamma)\right] = \mathcal{O}(n^{\lambda-\alpha}).$$

Hence

$$J_{1,1} = O(n^{\lambda - \alpha}).$$

Also, following Obrechkoff [6], we have

$$(5.5) \quad J_{1,2} = \int_0^{\eta} \Phi_1(\gamma) \, s_{n+1}^{(2)}(\gamma) \, d\gamma = \frac{1}{\Gamma(1-\alpha)} \int_0^{\eta} \Phi_{\alpha}(u) \left[\int_u^{\eta} (\gamma-u)^{-\alpha} \, s_{n+1}^{(2)}(\gamma) \, d\gamma \right] du =$$

$$= \left[\int_0^{1/n} + \int_{1/n}^{\eta} \Phi_{\alpha}(u) \, F(\eta, u) \, du = J_{1,2,1} + J_{1,2,2} \,,$$

say.

(5.6)
$$J_{1,2,1} = O\left[n^{2\lambda + 2}n^{\alpha - 1}n^{-(2\lambda + \alpha + 1)/2\Delta}\gamma\left(\frac{1}{n}\right)\right] =$$

$$= O\left[n^{2\lambda + \alpha + 1}n^{-(2\lambda + \alpha + 1)/2\Delta}\gamma\left(\frac{1}{n}\right)\right] =$$

$$= O[n^{-(\alpha + 1)/2\Delta}],$$

(5.7)
$$J_{1,2,2} = \int_{1/n}^{\eta} \Phi_{\alpha}(u) F(\eta, u) du = O \left[\int_{1/n}^{\eta} n^{(\alpha+\lambda+1)/2} u^{-(\alpha+3\lambda+1)/2} du \right] du$$
$$\cdot u^{(2\lambda+\alpha+1)/2\Delta-1} \gamma(u) du = O \left[n^{(\alpha+\lambda+1)/2} \int_{1/n}^{\eta} u^{(\alpha+\lambda+1)/2\Delta-1} \gamma(u) du \right] du = O \left[\gamma(\eta) \right].$$

Also

$$J_2 = O(n^{(\lambda - \alpha)/2}).$$

In view of the relation (5,1), (5,2), ..., (5,8) the theorem is completely established.

The author would like to acknowledge his indebtedness to Dr. D. P. Gupta for his valuable guidance during the preparation of this paper.

References

- [1] Bhatt, S. N.: The absolute summability (A) of Laplace series, Bull. Calcutta Math. Soc., Vol. 49 (1957), 129-132.
- [2] Gupta, D. P.: The absolute summability (A) of ultraspherical series, Annali di Matematica pura ed applicata (IV), Vol. LIX, pp. 179-188.
- [3] Gupta, D. P. and Pandey, G. S.: The absolute Cesaro summability of the ultraspherical series, Scandinavia Mathematika (under publication).
- [4] Kogbetliantz, E.: Rechérches sur la sommabilité des séries ultrasphériques par la méthode des mogennes arithmétiques, Journal de Mathematiques, (9), 3, 107-187.
- [5] Nielsen N.: Theorie des fonctions metasphériques, Paris, Gauthier-Villars, 1911.
- [6] Obrechkoff, N.: Sur la sommation de la série ultrasphérique par la méthode des moyennos arithmétiques, Rend. del circ. Mat. di Palermo, Vol. 59 (1936), 266-287.

Author's address: Department of Mathematics, Vikram University Ujjain, India.